

A NOTE ON THE DIOPHANTINE EQUATION

$$x^2 - kxy + ky^2 + ly = 0$$

SAKHA A. ALKABOUSS, BOUALEM BENSEBA, NACIRA BERBARA, SIMON
EARP-LYNCH, and FLORIAN LUCA

Abstract. We investigate the Diophantine equation $x^2 - kxy + ky^2 + ly = 0$ for integers k and l with k even. We give a characterization of the positive solutions of this equation in terms of k and l . We also consider the same equation when $l = p^n$ and $k \equiv 2 \pmod{p}$ for $p \equiv 3 \pmod{4}$; $l = 2^r 3^s$ and $k = 2k' + 1$ with $k' \equiv 2 \pmod{3}$ where n, s, t are non-negative integers.

MSC 2010. 11D85, 11Y50.

Key words. Diophantine equation, Pell's equation.

1. INTRODUCTION

There have been many works on the Diophantine equation from the title which is related to the theory of Pell's equation. In [2], Hu and Le studied the equation

$$(1) \quad x^2 - kxy + y^2 + lx = 0, \quad k, l \in \mathbb{Z}.$$

For $l = 1$, Marlewski and Zarzycki showed in [8] that this equation has infinitely many positive integer solutions if and only if $k = 3$. Further, they asked whether there are other values of k for which the equation (1) has infinitely many integer solutions. In [4], Keskin dealt with equation (1) for $l = \pm 1$. He showed that for $k > 3$ and $l = 1$, the above equation has no positive integer solutions, but for $k > 3$, $l = -1$, it has infinitely many positive integer solutions. Subsequently, in [11], Yuan and Hu answered the question posed in [8] by proving that when $l = 1$, equation (1) has infinitely many integer solutions if and only if $k \notin \{-1, 0, 1\}$. They also considered equation (1) for $l = 2$ and $l = 4$ and determined which values of the positive integer k yield an equation with infinitely many positive integer solutions. In [5] and [6], Keskin dealt with the equation $x^2 - kxy + y^2 \pm 2^n = 0$ and determined the circumstances

The authors thank Prof. Septimiu Crivei for useful suggestions. Florian Luca worked on this paper during a 7 month visit at the Max Planck Institute for Software Systems in Saarbrücken, Germany from September 2019 to April 2020. He thanks this Institute for hospitality and support.

under which it has infinitely many positive integer solutions for $0 \leq n \leq 10$. In [3], Karaatli and Şiar considered the Diophantine equation

$$(2) \quad x^2 - kxy + ky^2 + ly = 0$$

for $l = 2^\kappa$, $\kappa \in \{0, 1, 2, 3\}$, and determined positive integer values of k for which these equations have infinitely many positive integer solutions.

Recently, Mavecha [9] considered the equation (2) for $l = 2^n$, where n is a non-negative integer and k is odd, and proved that this equation has infinitely many positive integer solutions x and y if and only if $k = 5$.

In this paper, we deal with equation (2) in integers k and l . We determine conditions under which this equation has infinitely many positive integer solutions. We do the same thing for this equation when $l = 3^n$ and $k \equiv 2 \pmod{3}$; $l = 2^r 3^s$ and $k = 2k' + 1$ with $k' \equiv 2 \pmod{3}$ where n, s, t are non-negative integers.

2. PRELIMINARIES

We give, without proof, two theorems on the theory of Pell's equation. These theorems can be found in many books on number theory, in particular that of Nagell [10].

THEOREM 2.1. *Let D be a positive integer which is not a perfect square. The equation*

$$(3) \quad X^2 - DY^2 = 1$$

has infinitely many integer solutions $x + y\sqrt{D}$. All solutions with positive x and y are obtained from the formula

$$x_n + y_n\sqrt{D} = (x_1 + y_1\sqrt{D})^n$$

where $x_1 + y_1\sqrt{D}$ is the fundamental solution of equation (3) and n runs through all natural numbers.

For integer N , consider the Diophantine equation below

$$(4) \quad U^2 - DV^2 = N.$$

Let $u + v\sqrt{D}$ and $u' + v'\sqrt{D}$ be solutions of this equation. These solutions are said to be associated if there is solution $x + y\sqrt{D}$ of (3), so that

$$u' + v'\sqrt{D} = (u + v\sqrt{D})(x + y\sqrt{D}).$$

The associated solutions of (4) form a class of solutions. It is well-known that there are finitely many classes of solutions to (4), each of which contains infinitely many solutions.

THEOREM 2.2. *If $u + v\sqrt{D}$ is a fundamental solution for some class of solutions to equation (4) and if $x_1 + y_1\sqrt{D}$ is the fundamental solution of equation (3), then we have the inequalities*

$$0 \leq v \leq \frac{y_1}{\sqrt{2(x_1 + 1)}}\sqrt{N} \quad \text{and} \quad 0 < |u| \leq \sqrt{\frac{1}{2}(x_1 + 1)N}.$$

We will make use of the following theorem.

THEOREM 2.3 ([7, Theorem 4.1]). *Let $k > 1$ be an odd integer. If $0 < t < 2\sqrt{k^2 - 4}$ is an integer and the equation*

$$x^2 - y^2(k^2 - 4) = 4t$$

has solutions in coprime positive integers x, y , then $t = 1$ or $t = k + 2$.

3. NEW RESULTS

In this section, we prove the following theorem and some related results.

THEOREM 3.1. *Let k and l be integers with $l^2 < k$. The equation*

$$x^2 - kxy + ky^2 + ly = 0$$

has infinitely many positive integer solutions x and y if and only if

$$(l, k) \in \{(1, 5), (2, 5), (2, 6)\}.$$

Proof. Let us assume that, there exist some integers x and y which satisfy equation (2). We assume first that k is even. By completing the square, we get

$$(5) \quad \left(x - \frac{k}{2}y\right)^2 + \left(k - \frac{k^2}{4}\right)y^2 + ly = 0.$$

Set $a := \left(k - \frac{k^2}{4}\right)$. Multiplying equation (5) by $4a$, we get the following equation

$$a(2x - ky)^2 + (2ay + l)^2 = l^2.$$

Set $u := 2ay + l$ and $v := 2x - ky$. We obtain the equation

$$(6) \quad u^2 - \left(\frac{k^2}{4} - k\right)v^2 = l^2.$$

If $k = 2$ then in equation (6) we get $u^2 + v^2 = l^2$ which has only finitely many solutions in terms of l . If $k = 4$, then $u^2 = l^2$, so in this case the equation also has only finitely many solutions. Therefore, we assume that $k > 4$. In particular, $\left(\frac{k^2}{4} - k\right) > 0$. Set $k =: 2k_0$, $k_1 := k_0 - 1$ and $D := k_1^2 - 1$. Then equation (6) becomes

$$U^2 - DV^2 = l^2.$$

The fundamental solution of the Pell equation

$$u^2 - Dv^2 = 1$$

is $(u_1, v_1) = (k_1, 1)$. Let $u + v\sqrt{D}$ be the fundamental solution of the class of solutions to equation (6). By Theorem 2, we find that $0 \leq v \leq \frac{l}{\sqrt{k}} < 1$, so $v = 0$ and $u = \ell$. Thus, all solutions of equation (6) are given by $(U, V) = (\pm u_n l, \pm v_n l)$ where (u_n, v_n) is the n th solution of $u^2 - Dv^2 = 1$. We have that l and y are positive, that $2ay + l = U = \pm u_n l$ for some n and a is negative. If $U = lu_n$, we then get $l(u_n - 1) = 2k_0(2 - k_0)y$, which is impossible since $k_0 > 2$. If $U = -u_n l$, then we see that $2k_0(k_0 - 2) \mid l(u_n + 1)$. Note that u_n is given by

$$u_n = \frac{(k_1 + \sqrt{D})^n + (k_1 - \sqrt{D})^n}{2} \equiv k_1^n \pmod{D}.$$

If n is even, then $u_n \equiv (k_1^2)^{n/2} \equiv 1 \pmod{k_0}$, hence $k_0 \mid u_n - 1$. Since we know that $2k_0 \mid l(u_n - 1)$, and $\gcd(u_n + 1, u_n - 1) \mid 2$, we see that $k_0 \mid l$, implying $k_0 \leq l < \sqrt{2k_0}$, which is a contradiction.

If n is odd, then $u_n \equiv k_1(k_1^2)^{(n-1)/2} \pmod{D} = k_1 \pmod{k_0(k_0 - 2)}$, therefore we have $u_n + 1 \equiv k_0 \pmod{k_0(k_0 - 2)}$. Hence, $(u_n + 1)/k_0$ is an integer congruent to 1 $\pmod{k_0 - 2}$, and so it is coprime to $k_0 - 2$. Since by above we have that $2k_0(k_0 - 2) \mid l(u_n + 1)$, we must have $2(k_0 - 2) \mid l(u_n + 1)/k_0$. If k_0 is even, then so is $k_0 - 2$ and so $2(k_0 - 2)$ divides l , giving $2(k_0 - 2) < \sqrt{2k_0}$, which has no solution for even $k_0 \geq 4$. If k_0 is odd, then since $u_1 = k_1 = k_0 - 1$ is even and n is odd, we have $u_1 \mid u_n$, meaning that u_n is even and $u_n + 1$ is odd and again we get $2(k_0 - 2) \mid l$. This implies that $2(k_0 - 2) \leq \sqrt{2k_0}$, to which the only solution is $k_0 = 3$; i.e., $k = 6$. Noting that $2(k_0 - 2) = 2$ divides l , we see that l is even and $l < \sqrt{k} = \sqrt{6} < 4$, so $l = 2$. Since $u_n \equiv 2 \pmod{3}$ and u_n is even, we see that y_n is a positive integer and $x_n = (6y_n + 2v_n)/2$ is also a positive integer.

Suppose that k is odd. Performing the same algebraic manipulations as above and multiplying by 4, equation (6) becomes

$$U^2 - ((k - 2)^2 - 4)V^2 = 4l^2,$$

where $U = k(4 - k)y + 2l$ and $V = 2x - ky$. From this we see $k \geq 5$. Dividing this equation by $l_1 := \gcd(U, V)$, we obtain

$$(7) \quad U_1^2 - ((k - 2)^2 - 4)V_1^2 = 4l_2^2,$$

where $U_1 = U/l_1$, $V_1 = V/l_1$ and $l_2 = l/l_1$. Since for $k \geq 7$ we have

$$l^2 < k < 2\sqrt{(k - 2)^2 - 4}$$

and for $k = 5$, we have $l^2 < 5$, giving $l^2 \leq 4 < 2\sqrt{(5 - 2)^2 - 4}$, Theorem 2.3 tells us that $l_2^2 = 1$ or $l_2^2 = k - 2 + 2 = k$. Since $l_2^2 < k$, we must have $l_2 = 1$. Hence, $(U, V) = l(\pm u_n, v_n)$, where this time (u_n, v_n) is the n th positive integer

solution of $u^2 - ((k-2)^2 - 4)v^2 = 4$. If $U = lu_n$, then $l(u_n - 2) = k(4 - k)y$, which is impossible for $k \geq 5$ odd. This means we must have $U = -lu_n$ and so $k(k-4) \mid l(u_n + 2)$. We now set $k_1 = k - 2$ and observe that

$$u_n = \left(\frac{k_1 + \sqrt{k_1^2 - 4}}{2} \right)^n + \left(\frac{k_1 - \sqrt{k_1^2 - 4}}{2} \right)^n.$$

Hence, $u_n \equiv 2(k_1/2)^n \pmod{k_1^2 - 4}$. Since k is odd, $k_1^2 - 4$ is also odd, and so 2 is invertible modulo $k_1^2 - 4$. If n is even, we then have

$$u_n \equiv 2(k_1^2 \cdot 4^{-1})^{n/2} \equiv 2((k_1^2 - 4) \cdot 4^{-1} + 1)^{n/2} \equiv 2 \pmod{k_1^2 - 4},$$

which means that $k_1^2 - 4 = k(k-4) \mid u_n - 2$. Since $k(k-4) \mid l(u_n + 2)$, $\gcd(u_n - 2, u_n + 2) \mid 4$ and $k(k-4)$ is odd, we have $k(k-4) \mid l$, so $k(k-4) \leq \sqrt{k}$, which cannot hold for $k \geq 5$. Hence, n must be odd, which means that

$$u_n \equiv k_1(k_1^2/4)^{(n-1)/2} \equiv k - 2 \pmod{k_1^2 - 4},$$

and so $u_n + 2 \equiv k \pmod{k(k-4)}$. From this, we have $k \mid u_n + 2$ and $(u_n + 2)/k \equiv 1 \pmod{k-4}$, and so $u_n + 2$ is coprime to $k-4$. Since $k-4 \mid l(u_n + 2)/k$, we must have $k-4 \mid l$, meaning $k-4 \leq \sqrt{k}$, and so $k = 5$. Since $v_1 = 1$ and n is odd, we have that v_n is odd and $y = l(u_n + 2)/5$. Since $l < \sqrt{k}$, we get $l = 1, 2$, which are the cases covered in [3] and [9]. Hence, equation (2) has infinitely many solutions if and only if $(l, k) = (1, 5), (2, 5), (2, 6)$. \square

We deduce the following corollary.

COROLLARY 3.2.

(i) *If k is odd and $s \geq 0$ is an integer, the equation $x^2 - kxy + ky^2 + 2^s y = 0$ has infinitely many positive integer solutions x and y if and only if $k = 5$. If k is even and $s \in \{0, 1, 2\}$, then the equation $x^2 - kxy + ky^2 + 2^s y = 0$ has infinitely many positive integer solutions x and y if and only if $(k, s) \in \{(6, 1), (6, 2), (8, 2)\}$.*

(ii) *The equation $x^2 - kxy + ky^2 + ly = 0$, where $l = p^n$, $p \equiv 3 \pmod{4}$ and $k \equiv 2 \pmod{p}$ are integers and n is a non-negative integer, has infinitely many positive integer solutions x and y if and only if $k = 5$.*

(iii) *The equation $x^2 - kxy + ky^2 + ly = 0$, where $l = 2^a 3^b$, $k = 2k' + 1$, $k' \equiv 2 \pmod{3}$ are integers and a and b are non-negative integers, has infinitely many positive integer solutions x and y if and only if $k = 5$.*

Proof.

(i) Suppose first that k is odd. Then $(k-2)^2 - 4 \equiv 5 \pmod{8}$, so reducing equation (7) modulo 8 gives $U_1^2 + 3V_1^2 \equiv 4l_2^2 \pmod{8}$. Since $l = 2^s$, the value l_2 must also be a power of 2 and so U_1 and V_1 must be odd and $l_2^2 = 1$. It follows that $U = -lu_n$, and so $k(k-4) \mid l$ if n is even or $(k-4) \mid l$ if n is odd. Since k is odd and l is a power of 2, the only possibility is that n is odd and $k = 5$.

Now suppose that k is even. The cases $s = 0, 1$ follow from Theorem 3.1 so assume that $s = 2$, that is $l = 4$. If $k \equiv 2 \pmod{4}$, then $\frac{k(k-4)}{4}$ is a product of

two consecutive odd integers so it is congruent to 3 (mod 4), and thus equation (6) gives $U^2 + V^2 \equiv l^2 \pmod{4}$. From this we see that U and V cannot both be odd and so $l \mid U$. If $k \equiv 0 \pmod{4}$, then $\frac{k(k-4)}{4}$ is a multiple of 8, so equation (6) becomes $U^2 - 8bV^2 = 16$ for some integer b which gives $4 \mid U$. Hence, $l = 4 \mid U$ in either case. From the proof of Theorem 3.1 it follows that either n is even, $k = 2k_0$ and k_0 divides l , or n is odd, $k = 2k_0$ and $2(k_0 - 2)$ divides l . The first case gives $k_0 \mid 4$, for which the possibilities are $k_0 = 1, 2, 4$, the first two of which are impossible since $x^2 - kxy + ky^2 + 4y$ is positive for x, y positive and $k = 2, 4$, which leaves $k = 8$ as the only possibility. The second case gives $k_0 - 2 \mid 2$, so $k_0 = 3, 4$, which means that $k = 6, 8$.

(ii) If k is odd, then equation (7) modulo p becomes $U_1^2 + (2V_1)^2 \equiv 4l_2^2 \pmod{p}$, and since $p \equiv 3 \pmod{4}$, we can't have that p divides the sum of two coprime squares, so we must have $l_2^2 = 1$. Hence either n is even and $k(k-4)$ divides l or n is odd and $k-4$ divides l . In the first instance, since $l = p^n$, we must have that k and $k-4$ are powers of the same prime. This is only possible for $k = 5$, but then $p = 5$ does not satisfy the congruence $p \equiv 3 \pmod{4}$. In the second instance, $k = 5$ satisfies the condition.

If k is even then similarly to before, we get that either n is even and $k_0 \mid l$ or n is odd and $2(k_0 - 2) \mid l$. The second case is impossible since l is a power of an odd prime. In the first case we get that k_0 is a power of p , but since $k \equiv 2 \pmod{p}$ and $k = 2k_0$, only $k = 2$ works. But in that case the expression $x^2 - 2xy + 2y^2 + ly$ is always positive and so there are no solutions.

(iii) Reducing equation (7) modulo 8 in a similar manner to in part (i) gives that l_2^2 is odd, so since $l = 2^a 3^b$, we must have $2^a \mid U$. Reducing modulo 3, we obtain $l_2^2 \equiv 1 \pmod{3}$, and so $3^b \mid U$. Hence, $l \mid U$ and we again obtain that either n is even and $k(k-4) \mid l$ or n is odd and $k-4 \mid l$. Since $l = 2^a 3^b$ and k is odd, the case when n is even implies that k and $k-4$ are powers of 3, which is impossible. If n is odd, then we must have $k-4 = 3^r$ for some r . If $r > 0$, then $k \equiv 1 \pmod{3}$, which contradicts $k = 2k' + 1 \equiv 2(2) + 1 \equiv 2 \pmod{3}$. Therefore $k = 5$ is the only possibility. \square

REFERENCES

- [1] R. Boumahdi, O. Kihel and S. Mavecha, *Proof of the conjecture of Keskin, Şiar and Karaatli*, Ann. Acad. Sci. Fenn. Math., **43** (2018), 557–561.
- [2] Y. Hu and M. Le, *On the Diophantine equation $x^2 - kxy + y^2 + lx = 0$* , Chin. Ann. Math. Ser. B, **34** (2013), 715–718.
- [3] O. Karaatli and Z. Şiar, *On the Diophantine equation $x^2 - kxy + ky^2 + ly = 0$, $l \in \{1, 2, 4, 8\}$* , Afr. Diaspora J. Math., **14** (2012), 24–29.
- [4] R. Keskin, *Solutions of some quadratic Diophantine equations*, Comput. Math. Appl., **60** (2010), 2230–2230.
- [5] R. Keskin, Z. Şiar and O. Karaatli, *On the Diophantine equation $x^2 - kxy + y^2 - 2^n = 0$* , Czechoslovak Math. J., **63** (2013), 783–797.
- [6] R. Keskin, O. Karaatli and Z. Şiar, *On the Diophantine equation $x^2 - kxy + y^2 - 2^n = 0$* , Miskolc Math. Notes, **13** (2012), 375–388.

- [7] F. Luca, C.F. Osgood and P.G. Walsh, *Diophantine approximations and a problem from the 1988 IMO*, Rocky Mountain J. Math., **36** (2006), 637–648.
- [8] A. Marlewski and P. Zarzycki, *Infinitely many solutions of the Diophantine equation $x^2 - kxy + y^2 + x = 0$* , Comput. Math. Appl., **47** (2004), 115–121.
- [9] S. Mavecha, *On the Diophantine equation $x^2 - kxy + y^2 + lx = 0$, $l = 2^n$* , An. Univ. Vest Timiș. Ser. Mat.-Inform., **LV** (2017), 115–118.
- [10] T. Nagell, *Introduction to number theory*, John Wiley & Sons, New York, 1951.
- [11] P. Yuan and Y. Hu, *On the Diophantine equation $x^2 - kxy + y^2 + lx = 0$, $l \in \{1, 2, 4\}$* , Comput. Math. Appl., **61** (2011), 573–577.

Received November 16, 2019

Accepted December 23, 2020

Université Cheikh Anta Diop
Département de Mathématiques
Dakar, Sénégal
E-mail: hali.sakha@hotmail.fr

Université des Sciences et de la
technologie Houari Boumediene
LA3C, Faculté de Mathématiques
Algiers, Algeria
E-mail: b.benseba@usthb.dz
E-mail: nana_ber31@hotmail.com

Carleton University
Department of Mathematics
Ottawa, Canada
E-mail: simonearplynch@cmail.carleton.ca

University of the Witwatersrand
School of Mathematics
Johannesburg, South Africa

King Abdulaziz University
Research Group in Algebraic
Structures and Applications
Jeddah, Saudi Arabia

UNAM
Centro de Ciencias Matemáticas
Morelia, Mexico
E-mail: florian.luca@wits.ac.za